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Background Objective

Three asset families considered: railway To estimate the risk of hazardous events occurring in the

points, rolling stock and lifts. operation of the considered asset, considering the current health
The health state of the asset (or individual of the asset, projected operational usage, inspection and
components of the assets) is determined by ~ Maintenance policies.

monitoring selected parameters (e.g. air Methodology

pressure in lift doors). Whole system risk P(H;) is the probability (or frequency)of the

N occurrence of hazard, C(H;) are the
R= Z(P(H : )x C(H i )) consequences of hazard, N number of
i hazards

Event tree
Fault tree

Bow —tie model
extended with a Petri
Net —— =

r‘_Piniet_! N High
Petri Net to model the operation of asset Fault tree to evaluate the probability Event tree to evaluate the
and get statistics of component failures of a hazardous event consequences of a hazardous event

]
ff-peak PMto AM 18:00-01:00 PE
Lit i in top landing

Pa
‘L Ut requested st top ning
L T
f
T

T5
Fassangers in the ift want to go to bottomlending
T

P10 g‘ <
Passengers vaiting for ft o top landing

Lt s 2t top landing and pa

Fassengers bored of waiting P22
Passengers ready to enter Ift at top lnding




